
 

 

 

 

 

 

Assembly guide 

for the DIY pallet furniture 

 

  



Follow the steps below: 

 
 For this project you will need: 

- 8 pieces of euro pallets (EPAL) (800x1200 mm) 

- 20 pieces of 6x200 mm reisser screws 

- 12 pieces of 6x80 mm reisser screws 

- 8 pieces of 6x40 mm reisser screws 

- 2 pieces (right and left) of 3d printed glass holder and phone 

stands 

 

 

 

 

 

 

 

 Step 1: Remove the top and bottom planks from two pallets to make the 

armrests. (You will need the side pieces [the hatched ones]) 



 Step 2: Remove the bottom and middle pieces of two pallets to make the 

backrests. 

 

 Step 3: Fasten two pallets together with 4 pieces of 6x200 mm reisser 

screws, then repeat it with two other pallets to make the seats. 



 Step 4: Fasten the two seats to each other with 4 pieces of 4x200 mm 

reisser screws. 

 

 Step 5: Fasten two armrests to the sides of the seats with 4 pieces of 

4x200 mm reisser screws. 



 Step 6: Fasten the last two armrests to the previous ones with 4 pieces of 

4x200 mm reisser screws. 

 

 Step 7: Fasten the backrests to the seats and armrests with 12 pieces of 

6x80 mm reisser screws. 



 Step 8: Fasten the 3d printed glass holder and phone stands to the sides 

of the armrests with 8 pieces of 6x40 mm reisser screws.

 


